’ 2.
I. Very Short Answer Type Questions e

1. In figure, AB is a 6 m high pole and CD is a ladder inclined at an angle of 60° to 6 m

the horizontal and reaches up to a point D of pole. IfAD = 2.54 m, find the length
of the ladder. (use /3 =1.73)

V5 - 0 C
. D
2. For the given figure, solve the following:
(i) If ZACB = 45°, ZDBC = 30° and BC = 40 m, then find AB and DC.
(it) If AB = 30 m, LZACB = 60° and ZDBC = 45°; find CD.
Z C B
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3. In the given figure, AB = 10 m, ZPAD = 45° and ZPAC = 60°, find the length of CD.
A
P

.

c °~ B
4. Aladder, learing against a wall, makes an angle of 60° with the horizontal. If the foot of the ladder
is 2.5 m away from the wall, find the length of the ladder. S
5. An observer, 1.7 m tall, is 203 m away from a tower. The angle of elevation from the eye of
observer to the top of tower is 30°. Find the height of tower. e, 2T L
6. In the given figure, if A
() AB=30m, BC=25mand CD = 5 m, find the angle 0.
(if) BC=20 m, CD =4.5m and angle 6 = 60°, find the length
of AB. D 0

E
(#ii) AB =40 m, CD = 8 m and angle 6 = 30°, find the length .
of BC. o .
7. In the given figure if ZPAD =30°, ZPAC=45° and BC=40m,
then find:
(i) AB (ii) BD (iif) CD.
5 A
P > 5
45°\30
D > c > B

<+—40m—>»

8. The tops of two towers of height x and y, standing on level ground, subtend angles of 30° and 60°
respectively at the centre of the line joining their feet, then find x : y. . i
9, In the given figure, ZPAB = 60° and ZCAB = 30° and PB =75 m. Find BC.

P
r ¥

75m
OO
30° O P A

10. In the given figure, angle of depression, i.e. ZPAD = 60° and angle of
depression’ ie. ZPAC = 45°, Find: (l) DC, if AB =120 m (ll) AB, if
DB =40m
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1.

12.

13.

14.

15.

106.

17.
18.

19.

Find the values of x and v in each of the following:

(1) (if) 45 (4ii) 60°
60°

40m
x x 20m 8m X

0 [ |
y y y

A pole casts a shadow of length 204/3 m on the ground, when the sun’s elevation is 60°._ Find the

height of the pole.

The given figure shows a 20 m long rope AC used by A

circus artist for climbing. The rope is tightly stretched and tied from
the top of the vertical pole to the ground.

Find the height of the pole if the angle made by the rope with the S

PP ] 30 C
ground level 1s 30°, B “
A kite is attached to a string, Assuming that there is no slack in the string, find the height of the kite
above the level of the ground, if the length of the string is 54 m and it makes an angle of 30° with
the ground. )
A kite is attached to a string. Assume that there is no slack in the string. Find the length of the string
if it makes an angle of 60° with the ground and the kite is at a height of 30 m above the level of the
ground.
In the given figure, AB = 120 m, BC = 50 m and angle of depression £ PAD = 45°. Find the height
of CD.

e
-

20m

P————r A

45°
D 120 m
C 50 m B

Find the sun’s altitude when the height of a tower is \/3 times of the length of its shadow.

Al a particular time, sun’s altitude is 30°. Find the length of the shadow of a 3.6 m high tower at
that time.

In the given figure, BC is horizontal whereas AB and DC are vertical. If ZACB = 60°, ZDBC = 30°
and BC = 60 m, find AB - DC.

A

60° 3p°
c 60 m B
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20. Ifthe sun’s altitude is 30°, what is the ratio between th
shadow?

21, If the ratio between the height of a vertjcal tower an
sun’s altitude?

II. Short Answer Type Questions-] vz

e length of a vertical rod and the length of its

I

d the length of its shadow is /3 : 1, what is the

: I .o A
22. A oircus artist 1s climbing a 20 m long rope, which is tightly stretched

and tied from the top of a vertical pole to the ground. Find the height 20m
of the pole, if the angle made by the rope with the ground level is 30°
(see figure). I 30°

B
23. At2 p.m., the height of a pole is \/3 times the length of its shadow on
the level ground. At the same time, what will be the length of the shadow of a 40 m high tower.
24. Abridge across a river makes an angle of 30° with the river bank. If the length of the bridge across
the river is 60 m, find the width of the river. ' : *
25. From the top of a 60 m hig_h building, the angles of depression of the top and the bottom of a tower
are 45° and 60° respectively. Find the height of the tower. [Take 3 =1.73] B

26. The shadow of a tower standing on a level ground is found to be 30 h longer when the sun’s altitude
is 30° than when it to 60°. Find the height of the tower. ' e

27. In the given figure, ZACE =30°, ZADB =45°, CE = 12 m and CD = 10 m. Find AD.

Cc

A

28. A ladder, 4 m in length, is resting against a wall and makes an angle of 30° with the ground. Find:
(i) the height of the wall upto which the ladder reaches.
(i) the distance of the foot of ladder from the wall.

29. In the given figure, ZAEB =45°, ZCEB =30° and ED = 8 m. Find AC and CD.

A
/”

//l/

/_145: _______ E
A LG
8m
D C
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